

ELECTION COMMISSION OF INDIA

Register for Maintenance of Day to Day Accounts by

Contesting Candidates

Part A

Name of the Candidate: Mohammed Lag
Name of the Political Party (if any): M.B.T (majlis Bachao Tahgreek)
Constituency from which Contested: Karwan - 6 4
Date of Declaration of Result:
Name and address of Election Agent:
Total Expenditure incurred / authorized:

(From the date of nomination to the date of declaration of result of election, both dates inclusive)

				3	4	
1	2			Total Amount in Rupees	Nama P Add	
Date of spenditure /	Nature of Exp		Rate per	(Paid + Outstanding)	Name & Address of Payee	
Event]	Description	Quantity	Unit		0 - 11	
9/11/23	Nomination			10000/	Ro-64	
	fees					
10/11	Nil					
11/11	Nil					
12/11	lien					
13/11	Nil					
14/11	NIL					
18/11	Nil				* + + + + + + *	
16/11	N)					
14/11	Nil				*	
			,		. /	
					•	
\-1	٩.	mp.,				
		1				
			lota	10,000/		
				10,000		

9	8	7	6	5
Remarks, if any	Amount incurred/authorised by other individual/association/body/amy other (mention full Name & Address	Amount incurred/authorised by political party and name of political party	Amount Incurred/authorised by Candidate or his election Agent	Bill No. / Voucher No.
			10,000)	वीपीय
			[0,000] 50,000	02/10/11/13
			50,00	111111111111111111111111111111111111111
			() / _	Mula
		-	3 680/-	15/11/28
		,		

	2			Total Amount in Rupees	Name & Add		5	6	7	8	^
1 ate of	Nature of Exp		ate per	(Paid + Outstanding)	Name & Address	of Þayee	Bill No. / Voucher	Amount incurred/authorised by	Amount incurred/authorised by	Amount incurred/authorised by other individual/association/body/any	9
nditure / _ [vent]	Description	Quantity	Unit	1400 -			No.	Candidate or his election Agent	political party and name of political party	other (mention full Name & Address	Remarks, if any
11/23	flases		10	1-100							
	Canvassing valid MAIC Set Pamphlets	Klovehil	te -								
	Mic Set		4200	4200							
	Damphlets	200	2	400							
	1 Williams			6000/-							
										SOR -	للعداء سأام
		Tolal		16000						20R ~ ?	le reling
\		10.000									70 11 CO 12000
									t,		32/11/2
											35 (11/2)
			-								
			-								
			-								
		-				\					
		-				1					
						_			-		

			3	
1	2 of Expenditure		Total Amount in Rupees (Paid +	Name & Address of Payee
Date of		Rate per	(Paid + Outstanding)	
Event Description	Quantity	Unit	1 a x	
	140	10	1400	
19/11/23 +1991	-] \/0	sicle -	
convessi n	9 vehicle	XIO VI	4)161	
Micse	,1	4200	4200	
	1 .	2	2,000	
Pamphle	12		240	
Materb	otto 24	10		
Olso Co	mosa 50	10	500	
4100 30		5.0	250	
lea Smo	arcup 50	2.0	0 250	
	10	fal	8,590	
			8590	
			8 > 90) 4
20/11/2023				
Flago) 14	0 10	2) [10	
			1,5100	
canyessi	ng vehicle M	lovehic	le –	
Mic	set 1	lu	200,4200	
Pamp	hleta 10	<u> </u>	_	
		-	1000)
Water		0 10	300	
aloo s	Zamosa 7	0 10		
I —	nall wP 5		100	
	_	U S.	00 250	
0.00	· CC			
Small C	Offee wp 2	20 6	.00 120	

4

	6	7	8	9 003
5 II No. / oucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by	Amount incurred/authorised by other individual/association/body/any other (mention full Name & Address	Remarks, if any
8		.1		
20/11	123 6835	<i> </i>		
			1	
			A server have	

Total 9,970

				3	4	7 Г	5	
1 Date of	Nature of Ex	penditure		Total Amount in Rupees	Name & Address of Payee		Bill No. / Voucher	in
Expenditure /	Description	Quantity	Rate per Unit	(Paid + Outstanding)		- L	No.	Ca
21/11/2023	s Nil							
7111120								
	N					_ ₇₇		
						_		
						_		1
						_		
					1			
						100		
					\	1		
			+					
			+					

5	6	7	8	9
Bill No. / Voucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by political party and name of political party	Amount incurred/authorised by other individual/association/body/any other (mention full Name & Address	Remarks, if any
•				
		,		
			\ .	
1				

				3	4			_		009
1 Date of	Nature of Expe	enditure		Total Amount in Rupees	Name & Address of Payee	5 Bill No. / Voucher	Amount Incurred/authorised by Candidate or his election	7 Amount incurred/authorised by political party and name	8 Amount incurred/authorised by other individual/association/body/any	9 Remarks, if any
Expenditure / Event]	Description	Quantity	Rate per Unit	(Paid + Outstanding)		No.	Agent	of political party	other (mention full Name & Address	нешана, п апу
22/11/202	Flags	100	10	1,000		2/1/2				
	convessing yeb	ide N	ovehic	e —		27/11/20	2400/	-		
	Pamphlets	1000	2	2,000		į.		y		
	Mic Set	ĺ		0 4,200						
	Water bottle	25	9 10	2500						
	Veg birtani	2	115	230						
			. \	0 000						
		To	[q]	9,930				-		
						-				
						-				
						1 -				

				3	4
1 Date of	Nature of Exp	enditure		Total Amount in Rupees	Name & Address of Payee
xpenditure / Event]	Description	Quantity	Rate per Unit	(Paid + Outstanding)	
28/11/23	K11)			- vil -	
251112	1911				
		Pota	e p	1-4449	
	0 1 0			530	00
	Azacd 10)	e got	1		<u> </u>
		T	stol :	- Ps:-493	90/-
		Va	Mai) with 20	
		and to	C 97	C 4	2300
					4/17
				120	Revwan-69
					3471/2
			_		

5	6	7	8	9
Bill No. / /oucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by political party and name of political party	Amount incurred/authorised by other individual/association/body/any other (mention full Name & Address	Remarks, if any
		1		
		1		
		1		
		I.		
		-		
		,	,	

				3	4
1	Nature of Expe	enditure		Total Amount in Rupees	Name & Address of Payee
Date of Expenditure /		Quantity	Rate per Unit	(Paid + Outstanding)	
Event]	Description	Quantity		14000	
94 11 2003	flags	100	10	1000	
9 11 18.2	(myssipur(til	No	yechi		
	Convession chile panphlets mic Set	روما	10	2000	
	Compinees	1	42	n 4,200	
	Mic Sel	90	10	2500	
	unterbottle		+-		
	veg bir'yani	2	119	5 230	
	0 0				
		Tok	<u> </u>	9,930	-
				,	
25/11/2	of flags	100	15	1500	
	(mesing ve	hilo 1	s ve	UNI -	_
	man Mits	150	ກ ຂຶ	300	
	convering ve pan photos micset	,	12	१० ५२०	
	1 2 2 3 4		- (
		TOTO		8.700	
		1010		- 201	/
	1	+			l l
	_	\downarrow	_		
		1			

	6	7	8	9	
5 Bill No. / Voucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by political party and name of political party	Amount incurred/authorised by other	Remarks, if any	
16					
		- 1			

800

Nature of Exp Description Bike Rally	Quantity	Rate per Unit	Total Amount in Rupees (Pald + Outstanding)	Name & Address of Payee
Description	Quantity		(Paid + Outstanding)	
	10		Out.	
15 FE Race		300	3000	
T .	20	10	200	
TRA	10	35	350	
1 (63))				
Agent	\	30	0 300	
,	7	300	n no	
s nacio	7	(8	70	-
		P1, -	91315	
- Da	+~1	7		
		1	الحورك	<
			+	
	s naclo	Agent 1 Country 7 snaces 7	Agent 1 300 Country 7 3000 Shaces 7 18	Agent 1 300 300 Counting 7 300 2100 Shacks 7 10 70

5	6	7	8	9
Bill No. / Voucher No.	Amount incurred/authorised by Candidate or his election Agent	Amount incurred/authorised by political party and name of political party	Amount incurred/authorised by other individual/association/body/any other (mention full Name & Address	Remarks, if any
28/11/23	3000/			
20 11/23	10,000/_			
30/11/28	18,000/-			
12/3	10,000/-	-		
13	(0,000)			
2/12/13				
3/12/13	7600/_			
15	5000/			
4 (12/3)	,			
			A GULS	



ELECTION COMMISSION OF INDIA

Bank Register for Maintenance of Day to Day Accounts by

Contesting Candidates

Part C

Name of the Candidate: MD (A) (C)
Name of the Political Party (if any):
Constituency from which Contested: 64-Karwa
Date of Declaration of Result: 03-12-2023
Name and address of Election Agent:
Name and dadress of Licelian Agent.
Name of the Bank
Branch Address
ecount No.

(From the date of nomination to the date of declaration of result of election, both dates inclusive

					PAYMENTS		PAYMENT	•	
	DEPOSIT	S					PATIVIENI	5	
Date	Name & address of Person/party/association/body	Cash / Cheque No., Bank Name & Branch	Amount	Cheque No.	Name of Payee		Nature of Expenditure	Amount	Balance
Date	amount received / deposition	3	4	5	6		7	8	9
1	564	(a1)	5000				. –		
1/11)(2				Md AFRON	For	Hays & Pample	4700	
8									
							potal:-	4700/-	120 Bul.
				يخر ريخ					
									~ G
						1			
						1-			
						1-			
				2. 7	* White >	1			
		200 %				1			
						4	i	, , , , , , , , , , , , , , , , , , ,	

PAYMENT	S		00	
		Balance	Remarks if any Any expense mentioned in colonin 7 of the table and not mentioned in colonin 2 of tab of Part A should be clarified here.	
Nature of Expenditure	Amount			
,	8	9	10	
. —	~ .			
For Flags & Pample	4700			
potal:-	4700/-	120 Bul.		
		~ G13		
	,			
	:		i	
,				



ELECTION COMMISSION OF INDIA

Cash Register for Maintenance of Day to Day Accounts by

Contesting Candidates

Part B

Name of the Candidate:	1A10
Name of the Political Party (if any): _	MOST
Constituency from which Contested: _	64 - kanwan
Date of Declaration of Result:	3-12-23
Name and address of Election Agent:	
	1

date of nomination to the date of declaration of result of election, both dates inclusive)

	RECEIPT	PAYMENTS			
Date	Name & address of Person/party/association/body Receipt Amount No./Voucher No. and Date		No./Voucher	Name of Payee & Address	
1	2	3	4	5	6
9/11	· Khaleel			9/11/2020	Seif.
10/11	Md Aghil		10,000	10/11/23	Agent
uln	Sk Scheab		9500	11/11/23	Khaleel
12/11	md Akban		9200	14/1/28	Golden Hotel
15 1,	Intigaz.		10,000	15/11/23	Khaleel
20/11	Md Jallar		10,000	20/11/23	Khaleel
27/11	Sted Minhag		9,000	2/11/23	Gorden Hotel
20/11	sk majeed nd 192 faan		9500	22/11/23	Achaleel.
29/11	1 dris		(0000	28/11/29	Khaleel/Agest
30/11	Md Soheab		9 200	29/11/23	Challel
	24(9)	-	92000.	30/11/23	Chalad
			14300	412/11	Agent
				1/2/12	11
				7/12/23	11
				4/12/13	11
		A 1725 W.			
				. ✓	

			001
PAYMENTS		Balance Amount	Remarks if any
Nature of Expenditure	Amount	Places at which or person with whom the balance is kept (if cash is kept at more than one place/persons, mention name and address available.)	Any expense mentioned in colomn 7 of this table and not mentioned in colomn 2 of table of Part A should be clarified here.
7	8	9	10
Nomination	10,000/-		
Flags	10,000 -		
Louispeaker Test	5000/-		
Unch Snacies	\$000/-		
Taquates	3680		
pamphtits	6835		
Lunch & Snacks	100/-		
Remuneration to	2400		
Bites fally.	3000		
londsperkens	10,000	1	
Hand bills	8000		
Tent House	1000/-		
Tent House	10,000		
Loud speaker nat			
Mandbill	5000		
Tosal	8. 866,151	1	

67,3 ×